MATH 1101Y 2009 Quiz 12 (b)
Evaluate the integral.

1. (2.5 pts) [ a?sindzdx

Solution:

/ 2% sin 4xdx

_ i<_gg2 cos 4z — / (= cos 4z) (22) da:)

2cos4 11
_ _W+—— (xsin4x—/sin4xdm’)
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2. (2.5 pts) [ tan®zsec zdx

Solution 1: Let u = tan z. du = sec? xdzx.

tan® z sec? zdx
tan® z sec? z sec® xdr = /tan3 T (tan2 T + 1) sec? xdx

W (v +1) du= / (v’ + u®) du

ut tan®z  tan?z
THC= + +C.
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Solution 2: Let u = secz. du = tan z sec xzdzx.
/ tan® z sec* zdx

tan’ x sec® x tan z sec xdx = / (sec2 T — 1) sec® z tan x sec xdx

(i — 1) vPdu = / (i — ) du

ut sec®r  sectzx

+C =

Z 6 1 + C.
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